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SSC CHSL Tier-I :-Pattern

Sections/Subjects Number of Questions each Maximum Marks Time Duration
section

General Awareness 25 50 60 minutes
Reasoning/General 25 50

Intelligence

English Language (Basic 25 50

Knowledge)

Quantitative Aptitude (Basic 25 50

Arithmetic Skill)

Total 100 200
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1f a’+ b*+¢*+27=6(a+b + c), then what is the value of 3a + 5b - 4¢

aﬁa2+ﬁ+c2+27=6(a+b+c)%,?ﬁ3a+5b-4c<>h|l-ll-l FIT 27

O —2 34 Fh4a-—g3h—+ ta-g3C o
a) 22

(O\—-—bSL_\Y Q\O_.le_\( (Q-‘S)-‘—O

o\’b»hﬁsc 2
Asws=4G

"S#\ —k’i“l V&Q ¢) 16
0\_\(\% -

d) 32
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A steel rod of 4 ¢m diameter and 20 cm length is converted into a wire of S m

length of uniform thickness. What is the radius of the wire?

4 IHY STH AT 20 THT TTFATS chi Ueh 1T chi B ohil 5 W AIFATS oh UhTHT
e & aR H qiEfaa & foaT simar 21 ar 6 B = g
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A mixture of rice is sold a er kg. This mixture is made by mixing two

types of rice at ‘21 per kg and "25.20 per kg. What is the ratio of these two

types of rice in the mixture, if there is a profit of 25% on selling the rice?

ATAA ok Ueh THIUT skt *30 T ToRIT shi 2T & I=IT ATAT 21 I8 THS0T "21 Ui fehan
TAT *25.20 Ut FRUT AT T YRR &F =TAT i WA 8 =7 2| ot H g o
TR o AT Rl SATUTA TR AT 8, ATS =TT o U 25% <R ITH BT 82

| SN
o\ QS 9 c ?__’—5_/2/%@/;‘/ — g\\,\
S <

e > 235
Vo _/% b)3:2

2 S_j ¢)1:2
| d)3:5



The ratio of incomes of Piku and Qasim is 3 ¢ 4 and the ratio of their

expenditures is 2 ¢ 3. If both of them save Rs. 6000 each, the income of Piku is:
TR STI RTII SR ST ST ATTUTA 3 ¢ 4 § 3 3ok oI T AFUTA 2 5 3 71 Al
FHT 6000 T hHY TAA I 8, AT UTeh chl T TeheT 82

Pixn - Q oy

a) Rs. 20,000
-é/ 4\/1¥\Q9~m
A
Jn R AEaREe b) Rs. 24,000

\ j/* OGP |
o L 1feds ¢) Rs. 18,000

d) Rs. 12,000
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If AB=QR, BC=PR and CA =PQ, then
IfE AB = QR, BC = PR 3R CA = PQ, a9

Py /j\j\ a)A{Q}{EA@x
| “— | W

N Af TR b) AABC = APQR %
A = Q \D . \
0%3 ’(/-/5 %CBAE APRQ

d) ABAC = ARPQX
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In a decade, a town's population grew from 1,75,000 to 2,62,500. What

is the average annual percentage increase in population?

Ueh 9Teh W, Ueh &Y <hl SIHEEAT 1,75,000 A Tt 2,62,500 &Y TS|

STEEAT H STTEd 1T TTa9Td g fohaet 82
Tan — 2BASYL a) 8%
I necve =22 o0
AL R b) 3%
RSP y\3p =30L=Sy

d) 10%



Find the surface area of a sphere of diameter 21 cm.

21 Tt SATH AT T el BT T &he T shifse)

ans n
pracevyy SET! 2) 988 cm

7/ 9—K
b) 1234 cm?
- \2R6
( E'{:L Tﬁi\ ¢) 1445 cm?

d) 1386 cm”



A train covers the distance between two stations X and Y ir@ours. If the speed of

the train is reduced by 13 km/h, then it travels the same distance in 9 hours. Find
the distance between the two stations \ :}f

Teh ¢ &1 ¥e9AT X 3 Y o ofier ht g0 6 ©S H 7 STt 8| AT ¢ shi =Tt 13
fereTHey/eer o L St ST 2, 7 98 AHT S 9 °e W a3 HTdT 81 S TeIMT & ot

<ht S AT R O iriom = Specsd WTime “6\‘@*\‘{\’\

£ % \iow a) 220 km
23 (b)234 km

@%S‘“ m

= \K\K\\(ﬁd) 215 km
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In a bag, black tablet covers and white tablet covers are in the ratio 5 : 9. If

there are 450 white tablet covers, how many black tablet covers are there in the

bag?
Teh 7T H, I eacie Thal R WG aeie Thar 5:9 o TUT H 5l Al 450 TS

TTAC R 2, a6 AT H fohde 1A ¢ac1e i feha B2

N N
= A
/ ITETAESS
ASD LN a) 200
(\/; =Rl b) 275
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The average weight of A, B and C is 65 kg. If the average weight of A and B is

62 kg and that of B and C is 66 kg, then the weight (in kg) of B is:
A, B 3R C T 31Hd T 65 TReTamd 71 a2 A 3R B &7 0 a1 62 foremrm

& qAT B X C T {THd T 66 TheTRITT 8, T B &1 oo (fereTiomw W) feRaeT 22
A ARt C= 6573 ‘\O‘g\“@_‘

%

L s N RS
P\g?g"'ié*%: 5y ) 64
g a
A S f\“@?‘q.*‘f\% @ b) 63

356-0STOEE g6

d) 61
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Anil offers his customer a discount of 15% on a T-shirt and he still makes a

/

profit of 25%. What is the actual cost of the T-shirt marked ¥500?
ST STU TTEeh ol Teh E1-I1E W 15% hi T€ T&T AT § SR T Wt 38 25%
T AT EHAT 8l 500 w@rmﬁm@mﬁﬁ-ﬁmamﬁm Hed (vl Hed)

feRaaT 22

S *RE = BSHS
%Aﬁ \QF‘T 4 2) 340

o= QX NI b)E330
A >/¥%E§g ¢) 350

(\/f \EY s IS d) 360
e

B e
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A family consists of two grandparents, two parents and four grandchildren.
The average age of the grandparents is 67 years, that of the parents is 35 years
and that of the grandchildren is 9 years. What is the average age of the family?
Ueh UER H 21 STET-2TaT, 21 ATdT-fUdT 31X =’ uid-uifeat g1 SreT-arel &t eitad
AT 67 T, WIAT-TUAT T T ST 35 T 3R TIA-UTTrdi hl 6 1T 9 a9 &)
uftam <t aftee oy feRat 22

s, GiFAR A

R
Q\YO\V\A\)O\ . =2y = FO a) 40 years

O\YQV\J(/ 5 =Ta) \> Q\\J\ > '}Q b) 30 years
Chal s ‘1“? O ¢) 36 years

AW - Q\/'\%.”- %Gy/ d) 45 years



Find the total surface area of a cuboid whose length is 20 cm, width is 15 cm,

and height is 8 cm

Tk TATH 1 el IS e ATA hINTT STHEhT oiaTg 20 BHT, T1eTs 15 96T 31

NTUIRIANS o tisoen)
= CQ\QSQO_\( \%%\663 b) 990 cm’
~ SR O ¢) 1120 cm®
-~ \((ggp‘ ¥ d) 1080 cm?



The diagonal of a cube is 24 cm. Find its total surface area.

Ueh O T Torehut 24 A 7, SERT el T Gtet [Tt ity

@\ - ol |

am = 013 /V a) 1152 cmZ\/
PR O S B DR £
uwhe | \ ¢) 1100 cm?

d) 1366 cm*
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The sum of two numbers is 17 and their product is 34. Find the sum of

their squares.

Y HTEATAT BT AT 17 7 HR ITHT TUHAEA 34 Bl 37k S 6T 0T AT

| O\J‘—\Q:\_Jr ~

RN SiE !
cmﬂ = “‘h ne a) 224
y N \;V}) EURA @
a%o\ (g =oAL ) 225

d) 222
N )
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A container is normally filled in 5 hours. However, it takes 6 hours when there

is a leak at the bottom. If the container is full, in what time would the leak
empty it, if no water is allowed into the container during that period?

Teh ¢oh AT &Y H 5 € W W SATAT 8l BTetlioh, 36k dol o AT B o hiR0T 39
T T 6 TS T THY TTAT 51 ATS $oh WX AT 8, O Toha @ua § Fdmar o o
€ WAt BT, IS 0 1T 3 SR ok o Urt T <t argafe T2 82

30 A <A
ﬂx Ay | | a)Sh
) (@] 28 e
s T h ¢) 15 h

== d)30 h
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When two numbers are separately divided by 44, the remainders are 11 and 38,

respectlvely If the sum of the two numbers is divided by 44, then the remainder
will be:

T S HEIAT Rl TAT-3TNT 44 ¥ faywrira fomam SIrar 2, 9 sivwet shAoTl 11
@@W%ﬁf%l I THT TEATHT & TNTH hl 44 U fT9TiRIa /T 14T 2, 99

Reime  amo (y 4 U
W

\
) a-= S C peuduxze [ VI
_\S/ﬁr ¢) 33

Aﬂ) \éﬂa

S K
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If tan© + cotO = 4, then find the value of tan’0 + cot?0.
g tanO + cotB =4 2, AT tan20 + cot?*0 =T A AT KT

| a) 10
N RPY c) 16

d) 14
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